Ve¥y

: eléaef : SFolgils pl : ol
D 0 e L T T T T T T T R T AT T
B S N0 EE0d0400949999549993499 03908000 A0 0L A A2 AR
B R A A A AL A A ARSI NI AL AL AL A AN IAIAANIXAZ DA
PR 20922 T e
ﬁ"“‘ e e e e e T e e ‘.‘.-‘.LLLL-““
PO o 0
oy A ) Mo gt g Filol Clles 3pl FMal alELils 51 RAGE
f293] N
202 AANIT (03) (g plal TN

by

i
iy

\

Ml e 2 e M et 5l

E, 'l . o 3

3 sty Hignasiie oty )
] < o T 5]
el 235 el i Glail e
[ WA
ﬁ'ﬁ'ﬁ"l = = - = a & ‘ﬁ\"\
W WAL Jlm S5 10 dhiugail i f guilid 515 (500 399 (59939 (39057 e
) el
v A
A 555
122 RN
e e
W 3
K65 vl
MY P AR
BSaS] A
R e
PEAAYT oo A
e I s e BN
BNNN LSs
) b
eSS A2
ﬁ“‘ ek e el e P P P i PPl Pl PPl P k. 1l e Ik e ek = ““\
e P P e P P e PP P Pl L L P P T P PP AP PP P e
e el
P s AR
A Sl 8 _,.1-5-: g daad o Jlaal slgs ol ey
%) - - = Wy
e Blos U | ojlowd 51 | Jgww 3lani Flamzal 3l dud el
B D) w » =2) o]
S 2 ) : = . 20
) v Lpeeasd g cogas b i b
Roa 5 ]
o] n r (66 e300 1t 150 o l0ga) JLEL | ¥ )
i\ . ey
48 i | # - bl Moty S35 | ¥ o]
Y gl 5 Sy | bS]
P23 TR E TIPS s
S adica i 3
K55S \a- Wy L ol | o WY
DS 32
S ks clslef gl | 8 RN
haSd >y
S vy
o ]
] A
oyt ]
AN LSS
WV WAA Jlw ola - ]
22 g 242
P2 bl . e
;'t}..%{ il pnd jlme il o bile ] salina t%::%
M= GG NNy



oo of (i 315 (590 3T (i Syl o3 g éiumd piawo
MINTR 28 el @302 Ot kgl A

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes

each sentence. Then mark the correct choice on your answer sheet.

1-  What was intended as a peaceful demonstration rapidly -- into violence.
1) agitated 2) degenerated 3) preceded 4) discriminated
2-  The Democratic Party -- 70 percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembled
3- Some animals can --—------- very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand
4- Researchers have discovered that up to one half of all children born of alcoholics are

genetically ---------- to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important —— to international trade.

1} dimension 2) exposure 3) expenditure 4) distribution
6- Lack of childcare facilities can be a major for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
7- Itis a common that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
8- The ——-- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be ---------- to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to — economic growth,

1) sustained 2) congruous 3) extravagant 4) well-disposed

—nmmm ——————

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

| me————— e ——

Commonwealth of Nations i1s an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) ——--m-mms the British Dominions were recognized as ‘autonomous communities’, (12) ——---
the British Crown. Since 1947, when India chose (13) --------- within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---------- a total of fifty-three member states, is confined
(15) ===-s=ee== head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1) so 2) which 3) so that 4) in which
12- 1) binding together 2) bound together by
3) together having bound 4) having bound together
13- 1).toremain 2) remaining 3) for remaining 4) to be remained
14- 1) by 2).out of 3) within 4) outside
15- 1) for 2) to who 1s 3) to that of 4) that she is
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| Directions: Read the following passage and choose the best choice (1), (2), (3), or (4).
L Then mark in on your answer sheet.

16-

17-

19-

20-

In intercropping, there is often one main crop and one or more added crops, with the main
crop being the one of primary importance because of economie or food production reasons.
The two or more crops used in an intercrop may be from different species and different plant
families, or they may simply be different varieties or cultivars of the same crop species, such
as mixing two kinds of wheat seed in the same field. The most common goal of intercropping
is to produce a greater yield on a given piece of land by making use of resources that would
otherwise not be utilized by a single crop. Careful planning is required, taking into account
the soil, climate, crops, and varieties. It is particularly important not to have crops competing
with each other for physical space, nutrients, water, or sunlight. Examples of intercropping
strategies are planting a deep-rooted crop with a shallow-rooted crop, or planting a tall crop
with a shorter crop that requires partial shade. When crops are carefully selected, other
agronomic benefits are also achieved. Lodging-prone plants (those that are prope to tip over
in wind or heavy rain) may be given structural support by their companion crop. Delicate or
light sensitive plants may be given shade or protection, or otherwise wasted space can be
utilized. An example is the tropical multi-tier system where coconut occupies the upper tier,
banana the middle tier, and pineapple, gmgﬂt', or leguminous fodder, medicinal or aromatic
plants occupy the lowest tier.

It is stated in the passage that intercropping ...............

1) can be applied to the same or different species

2) works only at the seed level in some situations

3) involves at most three crops of the same family

4) is more effective for cultivars of the same species

The passage mentions that intereropping ..............

1) should not be done with plants that compete for Sunhght

2) happens when single crops.do not naturally ‘mix’ with other crops
3) makes it possible to make maximum yield on a given cultivar
4) needs varieties which are resistant to severe climatic conditions
We understand from passage that ..............

1) companion crops function as structural suppurl

2) some shade 1s necessary for intercropped plants

3) the height of plants is not an issue in intercropping

4) shallow- rooted plants are the best for intercropping

The best title for the passage would be ..........cc.veeeee s

1) ‘Intercropping Design’ 2) * Types of Intercropping’

3) * The Main Crops for lntcrcmpping 4) * Physical Space in Intercropping’
The word ‘prone’ in the passage (underlined) is closely related to ..............

1) ‘treat’ 2) ‘tend’ 3) ‘push’ 4] “stick’



21-

221-

23-

24-

25-

ANINIYA, &ty rene ¥) el U3

Sapodilla is a long-lived, evergreen tree native to southern Mexico and Central America. It is
grown in huge guantities in India, Mexico and was introduced to the Philippines during
Spanish colonisation. Sapodilla grows to 3-4 mtall. It is wind-resistant and the bark is rich in
a white, gummy latex called chicle. The omamental leaves are medium green and glossy.
They are alternate, elliptic to ovate, 7-15 cm long, with an entire margin. The white flowers
are inconspicuous and bell-like, with a six-lobed corolla. The fruit is a large ellipsoid berry,
4-8 cm in diameter, very much resembling a smooth-skinned potato and containing 2-5 seeds.
Inside, its flesh ranges from a pale yellow to an earthy brown color with a grainy texture gkin
Lo that of a well-ripened pear. The seeds are black and resemble beans, with a hook at one end
that can catch in the throat if swallowed. The fruit has a high latex content and does not ripen
until picked. The flavour is exceptionally sweet and very tasty, with what can be described as
a malty flavour. Many believe the flavour bears a striking resemblance to caramel. The unripe
fruit is hard to the touch and contains high amounts of saponin, which has astringent
properties similar to tannin, drying out the mouth. The trees can only survive in warm,
typically tropical environments, dying easily if the temperature drops below freezing. From
germination, the sapodilla tree will usually take anywhere from 5-8 years to bear fruit. The
sapodilla trees vield fruit twice a year, though flowering may continue year round.

The passage mentions that ..............

1) sapodilla is generally a low- gmwmg plant

2) India produces more sapodilla than Mexico

3) sapodilla tree is not easily damaged by wind

4) there are various medicinal uses for sapodilla

It is stated in the passage that ..................

1) sapodilla’s flowers are not easily seen

2) each bell of a sapodilla flower has 6 lobes

3) sapodilla’s leaves have margins.of 7-15 cm

4) the wavy bark of the sapodilla is very hard

The passage points to the fact that sapedilla’s ..............

1) fruit resembles a berry 2) seeds are -¢ % cm in diameter

3) leaves are shaped like a pear 4) fruit 1s not ripe when on the tree

We know from the passage that ... 0onn &

1) the sapodilla is one of the main sources of caramel

2) sapodilla’s fruit takes about 5-8 years to germinate

3) the sapodilla bears flowers two to three times a year

4) the sapodilla tree is very much temperature-sensitive

The expression “akin to® in the passage (underlined) can best be replaced by ............
1) * colored like? 2} * similar to’ 3) * shaped like’ 4) * according to’
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Multipurpose trees are trees that are deliberately grown and managed for more than one
output. They may supply food in the form of fruit, nuts, or leaves that can be used as a
vegetable; while at the same time supplying firewood, add nitrogen to the soil, or supply
some other combination of multiple outputs. Multipurpose tree is'a term common to
agroforestry, particularly when speaking of tropical agroforestry where the tree owner is a
subsistence farmer. While all trees can be said to serve several purposes, such as providing
habitat, shade, or soil improvement; multipurpose trees have a greater impact on a farmer’s
well being because they fulfill more than one basic human need. In most cases multipurpose
trees have a primary role; such as being part of a living fence, or a windbreak, or used in an
ally cropping system. In addition to this they will have one or more secondary roles, most
often serving to supply a family with food or firewood, or both. When a multipurpose tree is
planted, a number of needs and functions can be fulfilled at once. They may be used as a
windbreak, while also supplying a staple food for the owner. They may be used as fencepost
in & living fence, while also being the main source of firewood for the owner. They may be
intercropped into existing fields, to supply nitrogen to the soil, and at the same time serve as a
source of both food and firewood. Ideally most trees found on tropical farms should be
multipurpose, and provide more to the farmer than simply shade and firewood. In most cases
they should be nitrogen fixing legumes, or trees that greatly increase the farmer's food
securty.

The passage points to the fact that ...... TR

1) some multi-purpose trees are only used for their fruit

2) multi-purpose trees are particularly tropical arga trees

3) multi-purpose trees firewood adds nitrogen to the soil

4) multi-purpose trees leaves are, in fact, a form of vegetable
It is stated in the passage that ...............

1) all trees can basically.be considered as multi-purpose

2} most multi-purpose trees are primarily used as food

3) multi-purpose trees can co-exist with other trees in a field

4) a wind-breaker is a living- fence of multi-purpose trees

We may best understand from the passage that tropical farmers are .............. i
1) ¢ food-starved’ 2) * self-sufficient’

3) *‘crop-productive’ 4) * economically-dependent’

We understand from the passage that agroforestry ................

1) can be.actually destructive to tropical forests

2) deals with supplying firewood and nitrogen to soil

3) applies prineipally to sustainable land use systems

4) deals mainly with ways of providing multi-purpose trees

The word “deliberately’ in the passage (underlined) is most closely related to ..............
1) * efficient use’ 2) * in a natural state’

3) © with several purposes in mind’ 4) * careful consideration’
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